
YP-ADATT

   1. SCREW M6X10
       VITE M6X10
       TORNILLO M6X10
       SCHRAUBE M6X10
       VIS M6X10

 

   3. ADAPTER
       ADATTATORE
       ADAPTADOR 
       ADAPTER
       ADAPTATEUR 

 

2. SCREW M6X25
    VITE M6X25
    TORNILLO M6X25
    SCHRAUBE M6X25
    VIS M6X25

KITASSEMBLING INSTRUCTION


